DATE PRODUCER CUSTOMER PRODUCT
02/10/2024 R.E.M. SRL EXCLUSIVE DESIGN VENETA ELETTROMECCANICA
MECRS 125 6L N_2303 10 Comm
RESISTANCE TEST
R min R max R Temperature Result max dR % dR % Result dR
Phase 1 0 99999 0.25778 18.77 PASS 7.7 0.9 PASS
Phase 2 0.25852 PASS
Phase 3 0.26009 PASS
SURGE TEST
Vv Toll% L L dL % Toll% Q Q dQ % Result TQF %
Phase 1 1414 3.8 4544 m 1.1 5 58 1.5 GO 97.4
Phase 2| 1414 4544 m 58 GO
Phase 3| 1414 4492 m 57.14 GO
Sample 0 | 0 0
H. V. TEST
V (V) I Max (A) | Meas(A) Result
1079 0.004 2 GO
MEGAOHMETER TEST
V (V) R Min [MOhm] | R Meas [MOhm] Result
1067 1000 5 GO
SURGE 1.2/50 TEST
V PK (V) V 50u Result
910 482 GO
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mercoledi 2 ottobre 2024 - 10:21:57
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